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QUESTION 1

Given:

jdeps -jdkinternals C:\workspace4\SimpleSecurity\jar\classes.jar
Which describes the expected output?

A. jdeps lists the module dependencies and the package names of all referenced JDK internal APIs. If any are found,
the suggested replacements are output in the console.

B. jdeps outputs an error message that the -jdkinternals option requires either the -summary or the verbose options to
output to the console.

C. The -jdkinternals option analyzes all classes in the .jar and prints all class-level dependencies.

D. The -jdkinternals option analyzes all classes in the .jar for class-level dependencies on JDK internal APIs. If any are
found, the results with suggested replacements are output in the console.

Correct Answer: A

-jdkinternals option analyzes all classes in the .jar for class-level dependencies on JDK internal APIs. If any are found,
the results with suggested replacements are output in the console.

QUESTION 2

Given:

public class Tester {
static class Person implements /* line 1 */ {
private String name;
Person(String name} { this.name = name; }
/* line 2 */

}
public static void main(String[] args) {
Person|[] people = {new Person(“Joe"),
new Person(“Jane"™),
new Person (™John™) };
Arrays—sort (people);
for (Person person: pecople) |
System.ocut.println(person.name) ;
}
}

}

You want the code to produce this output:

John Joe Jane
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Which code fragment should be inserted on line 1 and line 2 to produce the output?

A. Insert Comparator on line 1. Insert public int compare(Person p1, Person p2) { return pl.name.compare(p2.name); }
on line 2.

B. Insert Comparator on line 1. Insert public int compareTo(Person person) { return
person.name.compareTo(this.name); } on line 2.

C. Insert Comparable on line 1. Insert public int compare(Person p1, Person p2) { return pl.name.compare(p2.name); }
on line 2.

D. Insert Comparator on line 1. Insert public int compare(Person person) { return person.name.compare(this.name); } on
line 2.

Correct Answer: B

Reference: https://www.coursehero.com/file/p320ss6/Override-public-int-compareTo-Person-otherCompare-this-objects-
name-to-others/

QUESTION 3
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1 import java.util.®;

2 1import java.io.®;

3 1import java.lang.Thread;

4  import java.util.Arraylist;

5 1import java.util.Linkedlist,

& import java.util.List;

7 import java.util.function.Consumer;
E import java.util,stream.Stream;

9 import java.util,stream.IntStream;
18

1l |

12 = public class Main {

13

14 - public static woid main(5tring[] args) {
15 int arr(101 = {{>,10}, {8,12}, {9,3}};
16 Long count = Stream.of(arr)

17 .flatMapToInt(IntStream: :of)
18 mag (N - n + 1)

19 Filter(n == (n % 2 = @)
28 .peek(System.out: :print)
21 Loount( )
27 System.out.printlnC” " + count);
23 1
24}

JOK 1.0.4 w

CommandLine Arguments

Result
CPU Time: 0.32 sec(s), Memory: 34220 kilobyte(s)

B1B4 3

Which is a proper JDBC URL?

A. jdbe.mysqgl.com://localhost:3306/database
B. http://localhost.mysqgl.com:3306/database
C. http://localhost mysql.jdbc:3306/database

D. jdbc:mysql://localhost:3306/database
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Correct Answer: D

Reference: https://vladmihalcea.com/jdbc-driver-connection-url-strings/

QUESTION 4

x +

5 bin
. 1 import java.util.=®;
9 data 2 import java.io.®;
import java.util.stream.Stream;
_J SIC 4 import fava.lang.String;
5 import java.util.List;
G import java.util.function.BinaryOperator;

8 import java.util.Scanner;

18 public class sampleq
public static void main (String[] args)

try (BufferedResder in = new BufferedReader(new InputStreamResder({System.in)))
{
i
System.out.print{"Input:");
[ String input = in.readLine();
System.out.print{"Input:" + input);

catch (IOException e)
{e.printStackTracs();

Ihéu;;-

Given:

public class X { }

and public final class Y extends X { }

What is the result of compiling these two classes?

A. The compilation fails because there is no zero args constructor defined in class X.

B. The compilation fails because either class X or class Y needs to implement the toString() method.
C. The compilation fails because a final class cannot extend another class.

D. The compilation succeeds.

Correct Answer: B

QUESTION 5

Given:
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public class Hello {
class Greeting {
void sayHi() {
System.out.printlni“Hello world”);

}

}

public static void main(String... arxgs) {
// Line 1

}

}

What code must you insert on Line 1 to enable the code to print Hello world?

A. Hello.Greeting myG = new Hello.Greeting() myG.sayHi();

B. Hello myH = new Hello(); Hello.Greeting myG = myH.new Greeting(); myG.sayHi();

C. Hello myH = new Hello(); Hello.Greeting myG = myH.new Hello.Greeting(); myG.sayHi();
D. Hello myH = new Hello(); Greeting myG = new Greeting(); myG.sayHi ();

Correct Answer: B
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